{Building and analyzing a basic RL high-pass filter)
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// RL high-pass filter

int R = 1000; // Resistance in ohms
int L = 0.01; // Inductance in henries
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int Vin = AO; // Input voltage on analog pin A0

int Vout = 9: // Output voltage on digital pin 9

int inputVal = 0: // Variable to store input voltage

float outputVal = 0: // Variable to store output voltage

void setup() {
pinMode(Vout, OUTPUT):
Serial.begin(9600);

void loop() {
// Read input voltage
inputVal = analogRead(Vin);
// Calculate output voltage

outputVal = R * ((float)inputVal / 1023) / (2 = PI * L):

// Write output voltage

digitalWrite(Vout, outputVal > 0.5);

// Print input and output voltage to serial monitor

Serial.print("Input Voltage: "):

Serial.print(inputVal):
Serial.print("
Serial.println(outputVal):

delay(1000);

Output Voltage: ");




T2NA ZE

import processing.serial.*:

Serial port;

int inputVal = 0:

float outputVal = 0;

float y = 0;

float[] data = new float[500];

void setup() {
size(800, 600):
smooth();
port = new Serial(this, Serial.list()[0], 9600):
port.bufferUntil('"\n'):

void draw() {

background(255):

// Draw axes

strokeWeight(1):

stroke(0);

line(50, 550, 750, 550);

line(50, 50, 50, 550);

// Draw input waveform

strokeWeight(2):

stroke(0, 0, 255);

for (int 1 = 0; 1 < 500; i++) {
point(i + 50, 550 - datali]):

t

// Draw output waveform

stroke(255, 0, 0);

for (int i = 1; i < 500; i++) {
line(i + 49, 550 - y, i + 50, 550 - outputVal):
y = outputVal;

void serialEvent(Serial port) {

String dataString = port.readStringUntil('\n'):

if (dataString != null) {
dataString = trim(dataString):
inputVal = int(dataString.substring(dataString.indexOf(':') + 1, dataString.indexOf(" Output Voltage"))):
outputVal = float(dataString.substring(dataString.indexOf("Output Voltage: ") + 16)):
// Shift data array to left and add new input value
for (int 1 = 0; 1 < 499; i++) {

datali] = datali + 1];

t
data[499] = map(inputVal, 0, 1023, 0, 500):
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